
1. Page 213, Theorem 9.6. A directed graph G with no isolated ver-
tices has a closed Eulerian trail if and only if it is strongly connected
and balanced.

2. Page 341, solution of Exercise 18. The last G should be an Rs. That
is, R,B,B,R,G,G,G,G,G,R,B,B,R is a good coloring.

3. Page 365, Exercise 14. The correct question is Sn(123, 132, 213). The
answer then is indeed a Fibonacci number, since the permutation must
start either with n or with (n− 1)n.

The answer to the question asked in the exercise is that Sn(123, 132, 312) =
n, since the position of n determines everything else.

4. Page 374, solution of Exercise 14. See item 3 above.

5. Page 460 last line of the first paragraph of the proof of Corollary 17.16.
It should be λJ , not J .

6. Page 468, first letter of the fourth row of 17.5.3 should be ”c”, not ”C”.

7. Page 468, line above Definition 17.25. ”T*” should be ”T”.

8. Page 469, middle of page. The converse of Teorem 17.27 is not true.
(”17.27” is missing)

9. Page 471, third row of the proof of Theorem 17.32. ”the same row”
should be ”a row”.

10. Page 493, Example 18.17. It should be |Gi|, not Gi.
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